YORKSHIRE SECOND ELEVEN IN THE MINOR COUNTIES CHAMPIONSHIP SEASON 1905 - FINAL TABLE

	Team	P	W	L	DWF	DLF	ND	Pts	PtsPC
	Points awarded	-	3	-	2	-	-	-	-
1	Norfolk	8	6	1	1	0	0	20	83.333
2	Monmouthshire	8	5	1	2	0	0	19	79.167
3	Devon	10	6	0	2	1	1	23	76.667
4	Wiltshire	10	6	1	2	1	0	22	73.333
5	Durham	8	5	2	0	1	0	15	62.500
	Yorkshire 2nd XI	8	5	1	0	2	0	15	62.500
7	Bedfordshire	10	3	2	3	2	0	15	50.000
8	Buckinghamshire	8	2	3	2	1	0	10	41.667
9	Glamorgan	14	2	5	4	1	2	16	38.095
10	Staffordshire	8	3	2	0	3	0	9	37.500
	Suffolk	8	2	3	1	1	1	9	37.500
12	Hertfordshire	10	2	3	2	3	0	10	33.333
13	Cambridgeshire	8	0	3	3	2	0	6	25.000
14	Dorset	8	1	3	1	3	0	5	20.833
	Northumberland	8	0	4	2	1	1	5	20.833
	Surrey 2nd XI	8	0	3	2	2	1	5	20.833
17	Berkshire	10	0	5	2	2	1	5	16.667
18	Cornwall	8	0	4	2	2	0	4	16.667
19	Oxfordshire	8	1	3	0	3	1	4	16.667

Order in the table - Position of teams in the table is decided by the percentage of possible points

FINAL AVERAGES – BATTING AND FIELDING

PLAYER	MATCHES	INNINGS	NOT	TOTAL	HIGHEST	AVERAGE	100s	50s	Ct / St
			OUT	RUNS	SCORE				
J W Rothery	3	5	1	246	114	61.50	1	1	4
H Rudston	5	8	1	356	87	50.85	-	3	3
W H Wilkinson	6	10	1	361	157	40.11	1	2	7
A Farrar	5	8	1	207	72	29.57	-	1	1
R W Frank	6	9	0	260	71	28.88	-	2	6
E Hey	7	10	0	237	59	23.70	-	1	1
R S Leather	6	8	0	184	91	23.00	-	1	-
F Hutchinson	2	3	0	64	49	21.33	-	-	-
A Crowther	4	6	0	101	58	16.83	-	1	7
J E Elms	7	9	0	80	27	8.88	-	-	-
G Deyes	4	4	1	26	16*	8.67	-	-	-
C Oyston	5	6	3	26	12	8.67	-	-	5
A Dolphin	8	10	6	34	15*	8.50	-	-	8/6
B Lawrence	3	4	0	34	29	8.50	-	-	1
G Tattersall	4	6	0	47	24	7.83	-	-	3
W Ringrose	4	6	0	28	15	4.67	-	-	2

ALSO BATTED

PLAYER	MATCHES	INNINGS	NOT	TOTAL	HIGHEST	AVERAGE	100s	50s	Ct / St
			OUT	RUNS	SCORE				
R S Rhodes	1	2	1	50	42*	50.00	-	-	-
H Wilkinson	1	1	0	48	48	48.00	-	-	-
C H Grimshaw	1	1	0	28	28	28.00	-	-	-
H Wordsworth	1	2	0	37	22	18.50	-	-	2
R Davison	1	1	0	11	11	11.00	-	-	-
T A Booth	1	2	0	20	17	10.00	-	-	2
H E Hartington	1	2	0	18	15	9.00	-	-	ı
J F Robinson	1	2	0	8	8	8.00	-	-	1
W Wainwright	1	1	0	0	0	-	-	-	_

AVERAGES – BOWLING

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVERAGE	BEST	5wI	10wM
						FIGURES		
C Oyston	159.4	38	412	27	15.25	7/57	2	-
J E Elms	168.3	45	437	27	16.18	5/65	1	-
R W Frank	67.5	6	314	19	16.52	5/11	2	-
H E Hartington	29	6	87	5	17.40	3/69	-	-
G Deyes	104	32	281	16	17.56	6/31	1	1
W Ringrose	119.4	14	412	21	19.61	5/48	2	-
B Lawrence	64.2	22	136	6	22.67	2/18	-	-
W H Wilkinson	94	16	327	12	27.25	3/22	-	-

ALSO BOWLED

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVERAGE	BEST	5wI	10wM
						FIGURES		
A Crowther	4	1	22	1	22.00	1/22	ı	1
W Wainwright	13	2	58	2	29.00	2/58	-	-
R Davison	18	0	80	1	80.00	1/80	1	1

LINE SCORES OF MATCHES PLAYED

- v Surrey (Park Lane, Reigate) 15 & 16 May, 1905 *Surrey 317 (W T Garrett 78, W E Davis 64; C Oyston 3/66) & 69/3 drew with Yorks 230 (J W Rothery 114; L M H Gooder 7/67)
- v Surrey (Ripon CC) 14 & 15 June 1905 *Yorks 261 (W H Wilkinson 77) & 211 (R W Frank 69, E Hey 59; L M H Gooder 7/68) beat Surrey 202 (F L Nightingale 70, L M H Gooder 51; R W Frank 5/11, H E Hartington 3/69) & 103 (R W Frank 3/19, W H Wilkinson 3/22) by 167 runs.
- **v Northumberland (Jesmond) 22 & 23 June 1905** *Yorks 256 (R W Frank 71, J W Rothery 61, H Rudston 54; G Elsey 5/74, G Simpson 3/83) & 67/0 beat Northumberland 107 (W Ringrose 5/55, LJ E Elms 3/19) & 215 (O Richardson 99; C Oyston 4/41, J E Elms 3/32) by 10 wkts.
- **v Durham (South Shields) 27 & 28 June 1905** *Yorks 200 (A Crowther 58; G Turnbull 7/84) & 185 (H Rudston 72; G Turnbull 5/54 [and match figs of 12/138], T Smith 4/82) beat Durham 184 (G Turnbull 64*; W Ringrose 5/48) & 174 (C Oyston 7/57) by 27 runs.
- v Northumberland (Breckon Hill Road Gd, Middlesbrough) 13 & 14 July 1905 *Yorks 319 (W H Wilkinson 157; G Elsey 5/102) & 133/4 (J Marshall 4/59) drew with Northumberland 446 (F W Gillespie 171, S P Wood 143; R W Frank 4/100, J E Elms 3/105)

- **v Staffordshire (Harrogate CC) 17 &18 July 1905** *Staffs 189 (J E Elms 5/65, G Deyes 4/44) & 105 (G Deyes 6/31 [and match figs of 10/75]) lost to Yorks 332 (R S Leather 91, A Farrar 72; S F Barnes 4/112) by an inns & 38 runs
- v Staffordshire (County Gd, Stoke-on-Trent) 9 & 10 Aug 1905 *Staffs 92 (C Oyston 6/35, J E Elms 4/40) & 113 (G Deyes 3/24, J E Elms 3/30) lost to Yorks 251/7d (H Rudston 87; A Tinsley 3/25, R C Page 3/28) by an inns & 46 runs
- v Durham (Redcar CC) 21 & 22 Aug 1905 Durham 197 (G Turnbull 64*, E W Eliot 62; R W Frank 5/62, W H Wilkinson 3/39) & 234 (G Turnbull 80, R P Moorsom 50; W Ringrose 4 /59) beat *Yorks 113 (G Turnbull 4/34, A Morris 4/38) & 119 (G Turnbull 7/63 [and match figs of 11/97]) by 199 runs.

CAREER FIGURES AND BIOGRAPHICAL DETAILS (WHERE KNOWN) OF PLAYERS WHO MADE THEIR DEBUTS IN 1905

66) Thomas Arthur BOOTH – Born 1879 in Idle, Bradford

Yorkshire career - 1905

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	2	0	20	17	10.00	-	-	2
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
	•	^	^	Δ.				2

67) Arthur CROWTHER – Born 1 Aug 1878 in Leeds

Died 4 June 1946, East Bierley, Bradford, aged 67

First-class debut – 1905 v Warwicks, Dewsbury & Savile Gd (County Championship)

Yorkshire career – 1905

His highest score 58 came in the match against Durham at South Shields on 27 & 28 June 1905 (Minor Counties Championship) His best bowling performance (1/22) came against Surrey at Ripon Cc on 14 & 15 June 1905 (Minor Counties Championship)

CAREER STATISTICS - BATTING & FIELDING

1st Class Matches	Inns 2	Not Outs	Total Runs	Highest Score	Average -	100s	50s	Ct/St
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
4	6	0	101	58	16.83	-	1	7
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	56	32	18.67	-	-	2

BOWLING

2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties						Figures		
Matches	4	1	22	1	22.00	1/22	-	-
2 J VI	^	37 11	D	XX7* 1 /		D /		40.35
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
2nd XI Friendly	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wl	10wM

68) **Arthur DOLPHIN** – Born 24 Dec 1885 in Wilsden, Bradford Died 23 Oct 1942 in Lilycroft, Heaton, Bradford, aged 56

He was a RH batsman & wicket-keeper

Test debut – v Australia, Melbourne CG, 1920/21

First-class debut – v Cambridge Un, Fenner's, 1905 (University Match)

Yorkshire career – 1905-1927

His highest first-class score (and career-best score) of 66 was made against Essex at Leyton on 16-19 May 1914 (County Championship) His only bowling success (1/18) occurred against Sussex at Hove on 25-27 Aug 1910 (County Championship)

CAREER STATISTICS - BATTING & FIELDING

Test Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	2	0	1	1	0.50	-	-	1
1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
449	465	164	3402	66	11.30	-	7	610/272
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
34	47	16	297	36	11.00	-	-	41/9
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
11	12	1	56	19	5.09	-	-	8/12

BOWLING

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	11	0	28	1	28.00	1/18	1	-

Arthur Dolphin who followed in a great line of Yorkshire wicket-keepers such as Ned Stephenson, George Pinder, Joe Hunter and David Hunter, and with Arthur Wood who followed him, taken together, did splendid service for their county during nearly eighty years. Herbert Strudwick (Surrey) and E J "Tiger" Smith of Warwickshire were his contemporaries so it was perhaps not surprising that he only played one test match.

Towards the end of his playing career, he stood as an Umpire in Lahore in India (before partition) in a match in 1926 between the Army and the MCC. From 1930 to 1939, including seven Test Matches, he was a regular on the first-class panel.

He served with the Leeds Pals regiment in the First World War.

69) **B LAWRENCE** – Born in 1886 in Bridlington, E Yorks

Yorkshire career – 1905-1906

His highest score (32) was made against Surrey at Woodcote Rd, Epsom on 24 & 25 May 1906 (Minor Counties Championship)

His best bowling figures (2/18) occurred in the game against Staffs at the county Gd, Stoke-on-Trent on 9 & 10 Aug 1905 (Minor Counties Championship)

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
5	8	0	96	32	12.00	-	-	3
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	2	1	27	14*	27.00	-	-	-

BOWLING

2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties						Figures		
Matches	84.2	24	206	6	34.33	2/18	-	-

- 70) **R S RHODES** No biographical information is available. He played just one Minor Counties Championship match against Northumberland in 1905 at the Breckon Gd in Middlesbrough. He scored 8 and 42*. He did not bowl and did not take a catch.
- 71) **J F ROBINSON** No biographical information is available. His Yorkshire career was brief with just two games in 1905. His highest score of 22 was made against Durham at Coatham Rd, Redcar on 21 & 22 Aug 1905 in the Minor Counties Championship. He did not bowl and took one catch. He had also played one other match against Notts second eleven at Wath-upon-Dearne Athletic Gd on 25 & 26 May 1905. He scored 5 and 22. He did not bowl and took one catch.
- 72) **Geoffry TATTERSALL** Born 21 April 1882 in Ripon, N Yorks Died 29 June 1972 in Harrogate, N Yorks, aged 90.

First-class debut – v Sussex at Headingley on 26-28 June 1905 (County Championship)

Yorkshire career – 1905-1910

His highest score of 87 came against Cheshire at Duke's Park, Bridlington on 11 &U12 Aug 1909 (Minor Counties Championship). He was a regular captain of the second eleven in his career.

CAREER STATISTICS - BATTING & FIELDING

1st Class Matches	Inns 2	Not Outs	Total Runs 26	Highest Score 26	Average 13.00	100s	50s	Ct/St
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
36	52	3	958	87	19.55	-	2	18
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
9	13	0	155	51	11.92	-	1	4

73) Herbert WORDSWORTH – Born in 1880 in Pontefract, W Yorks

Yorkshire career – 1905-1906. He was a wicket-keeper, a contemporary of Arthur Dolphin. His highest score (22) came against Durham at South Shields on 27 & 28 June 1905.

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	4	0	49	22	12.25	-	-	3/1
2nd XI	Inns	Not	Total	Highest	Avorogo	100s	50s	CHICA
Friendly Matches	111115	Outs	Runs	Score	Average	1008	508	Ct/St
